R

Auto Repair Tool

Torque value of Jetech Torque Wrench is from 4
to 20Nm, 0.1 carry unit while others in market is
0.25Nm, not able to adjust4.1Nm, 4.2Nm or 4.3
Nm, only get4.25 Nm. Jetech Torque Wrench

supplies more choices to users.

DIY Grade Industrial Grade

JETECH Torque Wrench measures up standard
DING6789. After 5000 times fatigue testing
under maximum torque. its deviation still keep
less than 2%.

Cheaper

Expensive

High Quality
Alloy steel Spring
High precision
Long life

Normal Steel Spring
Lower Precision
Shorter life

Quick-release Design

JETECH Torque Wrench has well lock design. The
handle design accords with ergonomics theory which
ensure the handle never slide off even there is oil on
user's hands. The quick release design make torque
adjustment more quickly.

Standard 140z oil barrel and well sealed, 400cc oil in bulk.
High strength zinc alloy nozzle.

3 Design of deflating nozzle and zerk.

o Workable on auto, truck, vessel, tractor, reaper, roller and
other construction machines.

High strength heat treated spring keeps pressure
sustainable and balance when injecting.

Safe and convenient oil injection with special lock system.
Special design of the nozzle ensure no back flow at use.
Max operating pressure 10,000PSI (700KGF/CM2)




4 )
Warranty for torque wrench
> Any defects on materials and process within 90 days
since the purchasing date (the date on proof of
purchase), user can send back for maintenance or
accessories replacements without charge.
> If the tolerance exceed + 3% tested by torque testing
equipment, and used not more than 3000 times within
90 days after purchasing date (the date on proof of
purchase), Jetech replace without charge.
> In case the damage or tolerance exceeding + 3% is
caused by any following situation, Jetech charge for
the maintenance.
> Situations: misusing, abusing, accidents, disobey the
instructions, maintained by unnamed maintenance
center.
N\ J/
Dial Torque Wrench

OStandard: GB/T 15729-2008 PRI IR

Upgraded Version
-

L L |

¥

Code | ModelNo. | Bmm | Lum o e =
043020 [TQWN1/2-0-200 20(1x20box)
043030 [TQWN1/2-0-300| 63 | 490 | 20(1x20box) | 20.90| 525x390x295

Extensible Wheel Nut Wrench

OFunction: Extensible handle, convenient carrying,

applicable to the wheel dismantling Pt
and assembling on car and truck

o PG
GUARANTEE]

<

Code | ModelNo. [Arm| Lmm = = =
172101 TWR-20 80 | 340-545 | 24(4x6box) |24.00| 460x455x251
172102 TWS-20 80 | 340-545 | 24(4x6box) [29.90| 460x455x251
Torque Wrench

OStandard:GB/T14765-2008 e
OLong service life: LFe __“-

Optimized gear structure enhance , )
the durability and prolong the service life. (@}

Flexible regulator s —— =1

OConvenience setting torsion: ‘ ' -

Pull out the locking ring when setting the
torsion and release the ring when the torsion set.

Code ModelNo. | Amm|Brm | Crom | L | pls e =
042820 | TQW1/2-40-200 | 40 | 41 | 43 | 510[12(1x12box)| 25.20 | 680x340x230
042834 | TQW1/2-60-340 | 40 | 41 | 43 | 615|12(1x12box)| 27.60 | 680x340x230
042720 | TQW3/8-4-20 25| 28 | 32 | 320(24(1x24box)|22.30 | 400x300x370
042710 | TQW3/8-20-100 | 30 | 42 | 28 | 440|12(1x12box)|{20.70| 510x260x290
042610 | TQW1/4-2-10 25 | 32 | 28 | 280(24(1x24box)| 20.60| 400x300x370
042620 | TQW1/4-4-20 25 | 32 | 28 | 320(24(1x24box)|21.70 | 400x300x370
042980 | TQW3/4-150-800 | 50 | 41 | 62 |1230| 2(1x2box)|15.70| 1318x191x191
042810 | TQW1/2-20-100 12(1x12box)

Cross Wheel Nut Wrench

OMaterial: CR-V

OFunction: Assemble and dismantle
the nut and bolt on wheel

OStandard: GB/T14765-2008

Code | ModelNo. | Amm | Lum o & =
172001 4AWLW-350 350| 350 10(2x5box) 14.20 360x290x290
172002 | 4WLW-400 400 | 400 10(2x5box) 16.20 330x330x150
172003 AWLW-450 455 | 455 4(2x2box) 7.40 360x360x150
172004 | 4WLW-500 500 | 500 4(2x2box) 7.70 390x390x150
Grease Gun

400CC High Duty Grease Gun
OStandard 140z oil barrel and well

sealed, 400cc oil in bulk. Guarantoed
OHigh strength zinc alloy nozzle. for 3 months
ODesign of deflating nozzle and zerk.
OWorkable on auto, truck, vessel, tractor,

reaper, roller and other construction machines.
OHigh strength heat treated spring keeps

e
pressure sustainable and balance when injecting. . M

OSafe and convenient oil injection with spe?:'lél lock system.
O Special design of the nozzle ensure no back flow at use.

Max operating pressure 10,000PSI (700KGF/CM2)
OStandard: JB/T 7942.3-1995

Code | ModelNo. | Amm | Bmm | Lmm e A 1=
100202 GG-400 150 | 55 |535| 20(1x20box) 26.40| 565x440x400

Grease Gun Dual Pistol lever Type

OComfortably grip with anti-slip rubber
cover outside the barrel and less effort
by dual pistol design

OStandard: JB/T 7942.3-1995

e’
g €
I}
| —
iy IH Ts
|
1
Code |  ModelNo. | Amm | Brm | Lom = o =
100204|  GG-400A | 170 | 60 |535 16 26.40 | 535x405x280
100206|  GG-600A




Gear Puller

Gear Puller 2 Jaws

OStandard: Q/TKGS 10-2007

OThe top head is heat treated and durable for using.

OThe jaws are well designed to prevent falling off at use. .

OApplicable to assemble and dismantle 4
the ball bearing and wheel gear etc.

Oil Filter Wrench Belt Style

OStandard: Q/TKGS 16-2009

OMaterial: Cr-V

OFunction: Assemble and dismantle
the oil filter in automobile

B LIFE TIME ) e .'r H-.
= ol
Code | Model No. | Amm | Bmm |Max[Min| = " o=
080921 2GP-75 102 (125 | 80| 15 | 20(1x20box) 9.40 | 320x200x273
080922 2GP-100 | 132|168 | 110| 20 | 20(1x20box) | 16.60| 318x223x283
080923| 2GP-150 212|212 | 160 | 25 | 12(1x12box) | 21.25| 500x276x203
080924| 2GP-200 300|333 | 210 | 30 5(1x5box) | 20.25 | 416x273x238
080925| 2GP-250 353|333 |265| 40 4(1x4box) | 17.256| 514x335x187
080926 2GP-300 | 378|390 |315| 50 |  2(1x2box) | 18.55| 420x136x340

Gear Puller 3 Jaws

OStandard: Q/TKGS 10-2007

OThe top head is heat treated and durable for using.

OThe jaws are well designed to
prevent falling off at use.

OApplicable to assemble and A
dismantle the ball bearing and &
wheel gear etc.

Code | ModelNo.  [Amm |Lmm o i =
173009 STW-9 195225  B0(6x10box)  |26.50|  497x366x295
173011 STW-11 36(6x6box)
Handcuffs Type Filter Wrench
NEW
e

Code | Model No. | Specification 0z| Bmm | Lmm P%ﬂs Kt m
170508 | OFW55-75 36(6x6box)
170509 |OFW75-95 36(6x6box)

Code | Model No. | Amm | Brm | Max| Min = o
080931| 3GP-75 102 125|80 | 5 20(1x20box) | 12.30
080932| 3GP-100 132 | 168 | 110 | 20 | 20(1x20box) |24.30
080933| 3GP-150 212 212|160 | 25 | 10(1x10box) | 25.30
080934 | 3GP-200 300 | 333|210 | 30 4(1x4box) | 22.45
080935| 3GP-250 353 | 333|265 | 40 4(1x4box) | 24.85
080936| 3GP-300 378|390 | 315 | 50 2(1x2box) | 25.20

=)

mm
338x264x263
430x288x333
536x348x213
402x381x175
485x360x171
577x446x123

Oil Filter Wrench Combination Use Style

OStandard: Q/TKGS 16-2009
OFunction:Assemble and dismantle the

filter diameter sizes at 63—-102mm

Code | ModelNo. | Amm |Lum = e =
170203|  OFW1/2 |63-102 60(6x10b0x) | 25.40|  B74x4B0X261

Oil Filter Wrench

Oil Filter Wrench Cap Style

OStandard: Q/TKGS 16-2009
OOFW-14F/65

Applicable to TOYOTA NISSAN LEXUS DIAHATSU CHANGANALTO
OOFW-15F/75

Applicable to BUICK GM SATURN
OOFW-14F/76

Applicable to VW MOPAR PORSCHE BMW MERCEDES
OOFW-15F/79

Applicable to NISSAN TOYOTA HONDAACCORD
OOFW-15F/90

Applicable to HONDAACCORD MITSUBISHI ISUZU MOPAR
OOFW-15F/93

Applicable to VW GMFRAM NISSAN RENAVLT HASTINGS PUROLATOR PORSCHE
OOFW-14F/67

Applicable to MAZDA FORD ZHONGHUA MITSUBISHI CHANGHE GEELY HAFEI

oo P
GUARANTEE]

El b

Oil Filter Wrench Combination Use Style

OStandard: Q/TKGS 16-2009

i .
B -

T Aoy =

Code
170204

Model No. | Amm | Lnm ) o =
OFW1/2R 60(6x10box)

Code | ModelNo.  |Amm | Lmm N i
170501 | OFW-14F/65 | 71 |37 60(6x10box) 8.60
170503 | OFW-14F/76 | 81 |39 60(6x10box) 8.70
170502 | OFW-156F/75 | 81 |39 60(6x10box) 9.62
170504 | OFW-15F/79 | 85 |37 60(6x10box)  [10.10
170505 | OFW-15F/90 | 95 |39 60(6x10box)  |14.60
170506 | OFW-15F/93 98 |39 60(6x10box)  |14.63
170510 | OFW-14F/67 60(6x10box)

=

mm
575x186x310
625x210x310
626x210x310
625x210x310
676x240x330

675x240x330

Oil Filter Wrench Plier Style

OStandard: Q/TKGS 16-2009
ODismantle the oil filter sizes of
63.5-116mm
OApplicable to the difficult
disassembly oil filter B

T T

| j =
Code | ModelNo. | Amm| Lmm = ;'f; e
173029 | OFW-300 | 79 | 300 | 60(6x10box) 18.86|  483x393x270

INDEX




Oil Filter Wrench

Papery Oil Filter Wrench Cap Style Coiled Spring Compressor 370mm 2Pcs Set

OStandard: Q/TKGS 16-2009

OApplicable to: OPEL/BMW/MERCEDES/FORD
Pro-environment Papery Oil Filter

OStandard: Q/TKGS 35-2011

5 [
=)

Code | Model No. [Specification o7 Bmm |Lmm | s = = o Model No. B | Lo = =
g PCS g mm
170507 | OFW-6F/36 60(6x10box 170401|  SPR-370 |84 |371| 20(1x20box)  |40.80|  402x387x335

Panel Beating Hammer

Lifter / Compressor

Standard Bumping Hammer
Tie Rod End Lifter (Japanese Type)

OStandard: Q/TKGS 21-2010 ‘ ‘

OStandard: Q/TKGS 17-2009 OFunction: Rebuild metal sheet

OMaterial: CR-V
OFunction:Applicable to assemble and dismantle

the tie rod end on most autos and light trucks
'
Code |Model No.| Specification 0z |Bmm |Lnm |  pog o =
Code Model No. | Amm | Lmnm e fa = 173201] HSW-1 100 | 325 |36(6x6box)| 17.27| 391x264x342
170701 BJP-1 1101160 20(1x20box) 23.40|  316x244x205

Light Shrinking Hammer
Piston Ring Compressor OStandard: Q/TKGS 21-2010
OFunction: Repair and rebuild the metal sheet ”ﬁ‘ ‘
OMaterial: Hickory. Drying, good elasticity,
octagon handle.

OStandard: Q/TKGS 18-2009
OFunction: Piston ring assembling

+3
b
T " -
Code Model No. | Amm | Lim o e =
170103 PRC-75 66 | 76 60(1x60box) 18.6 |  420x340x300
170104 PRC-100 70 {101 60(1x60box)  [22.30 |  420x340x375 Code |Model No. |  Specification 0z |Bmm |Lmm = E lﬁn
173202 HSW-2 100 | 325 |36(6x6box)[17.26| 391x264x342

Universal Ball Joint Puller(Lifetime warranty) Heavy Shrinking Hammer

OStandard: Q/TKGS 17-2009 Lifetime warranty

OStandard: Q/TKGS 21-2010
OMaterial: CR-V ' g *

. ) OHammer is integrally forged, quenching
OFunction: Remove the tie rod end at narrow space ’ treated prevent fracture.

[ OHandle: Hickory, Anti-humidity. T b
g w .' octagon handle [
=~ "'1' .
:
L o
i) i) )
Code Model No. | Amm | Lmm PCS Ko E“m w Né
170702 BJP-S 20(1x20box) Code |Model No. | Specification 0z | B | Lam o Eg =3
170703 BJP-L 20(1x20box)

173203 | HSW-3 101 | 330 | 36(6x6box)(17.26| 391x264x342




Panel Beating Hammer

Dolly

Straight Pein & Finishing Hammer

OStandard: Q/TKGS 21-2010

OHammer is integrally forged, quenching
treated prevent fracture.

OHandle: Hickory, Anti-humidity. r[
octagon handle

ecr PN
GUARANTEE]

Code |Model No.| Specification 0z | Bmm |Lnm|  pog f e
173205| HSW-5 140 |325|36(6x6box)| 16.48| 388x330x306

Curved Pein & Finishing Hammer

OStandard: Q/TKGS 21-2010

OHammer is integrally forged, quenching
treated prevent fracture.

OHandle: Hickory, Anti-humidity.
octagon handle

Curved Dolly

OStandard: Q/TKGS 22-2010
OHigh-carton steel integrally
forged, quenching treated,

mirror finished

L

'
[=
v)
o =

Code [Model No. | Specification 0z |Bmm|Lmm P?S /{; Ifm
173204 | HSW-4 140|325|36(6x6box) 15.94| 388x330x306
Pick & Finishing Hammer
OStandard: Q/TKGS 21-2010 [—
OHammer is integrally forged, quenching

treated prevent fracture.
OHandle: Hickory, Anti—-humidity. —t

octagon handle [

'

Code |Model No.| Specification 0z |Bmm |Lmm P?]S Kig %;?n
173206 | HSW-6 140 | 325 36(6x6box) |16.7 | 388x330x306
Toe Dolly
OStandard: Q/TKGS 22-2010
OHigh-carton steel integrally forged,

quenching treated, mirror finished

!

Code | Model No.| Specification 0z (B [Lmm|  ASg i =

173301 | DHD-1 57 [120(12(6x2box)| 15.98| 206x152x167

Code |Model No.| Specification 0z  (Bmm |Lom| — p2g e =
173302 | DHD-2 58 |130|12(6x2box) | 13.62| 203x203x130
Drip Moulding Spoon

OStandard: Q/TKGS 22-2010
OHigh-carton steel integrally forged,
quenching treated

Code | Model No.|  Specification 0z  [BmmlLom|  pig l‘f; =
173304 | DHD-4 45 1230[12(6x2box)| 15.36| 264x206x142

Double End Hand Dolly

OStandard: Q/TKGS 22-2010
OHigh-carton steel integrally forged, '
quenching treated, mirror finished

Code | Model No.| Specification 0z |Bmm|Lmm Pﬁg’s e Eﬁam
173303| DHD-3 66 | 75 [12(6x2box)| 14.25| 215x158x209
Piston Ring Pliers

‘i-

OStandard: Q/TKGS 24-2010
OFunction: Remove piston ring

Code | Model No| Specification 0z | Amm | Lom P?s :S E\i?n
170101 | PRP-100 125|210 |36(6x6box)| 13.71 513x322x377
170102 | PRP-120 1451230 |36(6x6box)| 14.95 | 513x322x377

T-Type Spark Plug Socket

OStandard: GB/T 3390.1~3390.5-2004
OLength:4500mm '
OMagnetic socket
OCR-V material, electroplated and
sandblasted finishing '

Code |Model No. B | Lo = i =
014816 TSPG-16 200 448 24(6x4box)  |11.90 502x422x158
014821 TSPG-21 200 448 24(6x4box) [13.10 502x422x158

INDEX




Strut Nut Socket

Volkswagen Front Strut Nut Socket

OStandard: GB/T 3390.1~3390.5-2004 %

OMaterial: CR-V

OFunction: Remove and assemble VW auto
front strut nut

%
H =

Code | ModelNo. | Amm | Luom = ,':5 f=
170409 ASK-F 30 260 36(6x6box) |14.04 314x309x134

Volkswagen Back Strut Nut Socket

OStandard: GB/T 3390.1~3390.5-2004
OMaterial: CR-V 1\,
OFunction: Remove and assemble VW auto back strut nut S

on o =]
PCS Kg mm

36(6x6box) [17.65 336x322x121

Code Model No. Amm Lmm
170410 ASK-B 24 350

Strut Nut Socket

OStandard: GB/T 3390.1~3390.5-2004
OMaterial: CR-MO
OFunction: Remove and assemble

VW auto font strut nut

ece P
GUARANTEE|

Tyre Seal Hammer

OStandard: Q/TKGS 25-2011
OFunction: Remove the counterbalance on
wheel hub, and cut, strike and assemble.

Code | ModelNo. | Amm | Lom RN e i

170402 | WBP-200 85 243 24(6x4box) [12.70|  350x288x258
DISC Brake Regulator
OStandard: Q/'TKGS 26-2011
OFunction: Rolling the piston when assembling brake block.
[
'
Code | Model No. Bmm Lmm P?s KJQ Ir;?n
170403 | BCP-65 115 140 18(1x18box) | 19.2 310x270x285

G I«
Code |ModelNo| Bmm | Lmom 2 o =
170411 | NSK-22 | 25 29 120(12x10box) | 7.93|  330x290x140

Ball Joint Separator

OStandard: Q/TKGS 32-2011
OFunction: Remove tie rod joint.

.
oo P
GUARANTEE|

[

Coggent Flexible Magnetic Pick Up Tool

OStandard: Q/TKGS 27-2011
OFunction: Soft pipe, pick up the accessories,

steel and iron objects at narrow spaces. -—\‘I
.

Code Model No. Amm Lmm i) i) =)

PCS Kg mm
170301 MPU-17 22 510 36(6x6box) 9.00 455x376x248

=

Code | ModelNo. | Bmm | Lum = B =
170419 BJS-12 50 302 24(1x24box) | 18.96 320x200x273
170420 | BJS-16 | 45 | 403 | 20(1x20box) |20.84|  430x290x165

Cylinder Head Screw Special Socket

OStandard: GB/T 3390.1~3390.5-2004
OMaterial: CR-V '
OFunction: Remove and assemble

cylinder head on VW auto t

Code | Model No. B || M = & =

ECS Kg mm
170408 | SK1/2-MP10 22 110 |120(12x10box) | 15.65|  322x252x145




Automotive Circuit Tester

OStandard: GB 8218-1987

OVoltage range: 6V/12V/24V

OApplication: Applicable to low voltage test for the
transport machinery such as Auto, Motorcycle,
Earth Mover, Road Roller and etc.

Air Duster

OStandard: Q'TKGS 58-2012
OMaterial: Nylon
OFunction: clean dust,powder and dryer.

i
‘;i'

Code | ModelNo. | Bmm | Lmm e
170140 | ACT-140 14| 144 |120(12x10box)

T-Hexagonal Socket

OStandard: GB/T 3390.1~3390.5-2004
Applicable to 1SO691,1S0 1711,1S0 2725

Code | Model No. | Amm | Crm s
016508 TSK-8 1.6 8 60(6x10box)
016509 TSK-9 14 G 60(6x10box)
016510 TSK-10 14 10 60(6x10box)
016511 TSK=11 18 11 60(6x10box)
016512 | TSK-12 18 12 60(6x10box)
016513 TSK-13 18 13 60(6x10box)
016514 | TSK-14 19.5 14 60(6x10box)
016515 TSK-15 24 15 60(6x10box)
016516 TSK-16 24 16 60(6x10box)
016517 | TSk-17 | 24 17 60(6x10box)
016519 TSK-19 26 19 60(6x10box)

Pipe Joint

OStandard:Q'TKGS 54-2011

Code Model No. IS
190002 A11-SNS-PJ 120(12x10box)

s
B
- = Code | ModelNo. | Amm | Lwm = = e
] mm
926 470x440x340 170311 | A12-BG-100 60(6x10box)
170312 | A12-BG-250 60(6x10box)
5pcs Hook and Pick Set
. ]
OStandard: Q/TKGS 39-2011
————
OFunction: Pick and pull O ring,
Gasket, Cotter etc. e
-
—————
o U
- - Code Model No. = = =
Kg mm 170412 AHP-5S 60(6x10box) 3.25 222x179x166
21.40 | 465x365x375
22.00 | 465x365x375
21.60 | 465x365x375
22.70 465x365x375
22.50 465x365x375 z
2330 | wsceses  \alve Stem Seal Plier
23.80 | 465x365x375
25.80 465x365x375
23.50 | 465x365x375 OStandard: Q/TKGS 33-2011
2550 | 465x365x375 OFunction: Remove and assemble auto TLT
26.10 465x365x375 oil seal and valve spring ‘
O
g L
Code | ModelNo. | Amm | Lmm = f =
170415 VSR-10 20 245 60(6x10box) | 26.55 745x348x218
170431 VSR-11 60(6x10box)
Twin Leg Puller
OStandard: Q/TKGS 10-2007
OMaterial: CR-MO
OFunction:Remove timing pulley. [
Applied to various vehicles.
Adjustable range:40-90mm '
st =) S
Kg mm Code | Model No. B || [l o e =
170421 AGP 110 120 |36(1x36box)|25.30 280x246x272

INDEX




Tyre Repair Needle Battery Terminal Spreader And Cleaner

OStandard: Q/TKGS 40-2011 OStandard: Q/TKGS 38-2011

OMaterial: Chrome plated OFunction: Rust cleaning to prolong i
OFunction: Urgent repairment in the service life of the battery.
case the tyre punctured t’\
'
170423 ATR-9 60(10x6box) 13.60 617x255x328
170425 ABT-6 93 165 60(6x10box) |18.05 325x312x492
Fuel and air conditioning lines disconnect tool set
OStandard: Q/TKGS 34-2011 ‘ 1 1
andard: Q ‘1‘.‘1 Flexible Line Clamp Complete Set
OFunction: remove and assemble '.I i !

the air conditioner adapter ] OStandard: Q/TKGS 43-2011
O3 Size: 3/4” -21/4” ;
1/2” -3/4” ; 1/8” -5/16"
OMade of High strength heat
resistant nylon.
OThree sizes are applied to nearly

all vehicle clamping.

170414 AFL-3S 60(6x10box) 13.20 538x442x158

12“ Wrench Chain Type 170201 A11-CP-3S 36(6x6box)

OStandard: QB/T 1200-1991

OMaterial: CR-V

OFunction: heavy duty tool, suitable
using on pipe assembling, and oil filter
removal and assembling on heavy duty
vehicles.

s 1/2 DR Torque Angle Gauge

T T
- WU Co=——70 OStandard: Q/TKGS 50-2011
A cedprecas OFunction: torque compensation

b and adjustments

i) T =

CPW-12 24(1x24box)  [19.80

©

170416 338x258x190

Cooler line and Fuel line disconnect tools set(1/4"-7/8") "~ '+ . =" 366x6500

OStandard: Q/TKGS 36-2011 J‘_
OFunction:Applied to remove and assemble " ,f:l .'I

air conditioning pipes an oil pipes : Q = |F-J|I Valve Adiusting TOOIS(NISSAN)

@ OStandard: Q/TKGS 47-2011
OMaterial:Body—-CR-V
OFunction: Distance sleeves replacement _——_

170422 AFD-7S 148 36(6x6box) 6.35 467x344x232

Tyre Valve Remover —

OStandard: Q/TKGS 37-2011 F .

OFunction: Remove and assemble

tire vacuum mouthpiece FE;FHW\ P
) ZF:@‘
Hch T

170241 | A11-VA-N 36(6x6box)

170424 ASV-10 60(6x10box)  |19.40|  455x360x230




Valve Adjusting Tools(TOYOTA)

OStandard: Q/TKGS 47-2011

OMaterial:Body-CR-V

OFunction: Distance sleeves replacement
and simplified valve adjustor

Clip Removal Pliers

OStandard: Q/TKGS 49-2011

OMaterial: 45# steel

OFunction: Pull out the rivets on door panels
and other parts of the automobile

= =
PCS Kg

-
Code
170231
Ll

| =
- e

ey
ModelNo. | Anm | Lam o o =
A11-CRP 60(6x10box)
Code Model No. e
170242 A1T-VA-T 36(6x6box) T_Handle Spark Plug Socket
OStandard: GB/T3390.1~3390.5-2004
Auto Computer Memory Unit ———
OStandard: Q/TKGS 41-2011
OFunction: In the state of engine not started,
inserted to the lighter hole, the sound, clock
and other auto control programs are a =)
supported for use and maintainence. W é
'ﬂ Code | ModelNo. | Amm | Lmm ol o =
171016 TMPG-16 60(6x10box)
= 171021 TMPG-21 60(6x10box)
Code Model No. s %o =
170426 ACM-9 60(10x6box) 5.50 448x258x325

Drum Brake Spring Pliers

OStandard:Q/TKGS 44-2011

OMaterial: medium carbon steel

OFunction: Tighten brake spring for brake
pad installation. Remove and install the
drum brake spring. Lon

——

e e

M Code

Panel Beating File

OStandard: GB/T 5806-2003

OMaterial:: SK3 . _
B i g b R e G — .

- E °]
dea!

Model No. | Amm | Lmm s o = %
@ I;/é 173402| A11-FB-S 60(6x10box)
— 173403| A11-FB-T 60(6x10box)
Code Model No. s = =
170211 A11-SP 36(6x6box)

Vacuum Cup Valve Grinder

OStandard: Q/TKGS45-2011
OMaterial: Handle - birch, Head—nature rubber
OFunction: Grind the dust on engine block

1" Scraper

OStandard: QB/T2083-1995
OFunction: Clean the dirts on workpiece

1 P
O
)

[ =
Code | ModelNo. | Amm | Lum o a =
Code Model No = = e
: PCS Kg mm 170308| A12-GS-1 60(6x10box)
170428 A11-VG 60(6x10box)

INDEX




Hydraulic Jack

Universal Valve Spring Compressor
OStandard: Q/TKGS 56-2011

Hydraulic Bottle Jack

o _ _, Rated capacity: 2000KG  Min height: 168MM Hoisting weight: 90MM
OMaterial: 45# steel .,l.--'- el HBJ=2 ) Gjustable height: 60MM Max height: 308MM
OApplication: Applicable to the disassembly \ T HBJ_g Rated capacity: 3000KG  Min height: 196MM Hoisting weight: 125MM
for the various valve, petrol, diesel engine ¥ ¥ 1 Adjustable height: 60MM Max height:
\
and deep valve. HBJ_5 Rated capacity: 5000KG Min height: 197MM Hoisting weight: 1256MM
e WS | | Adjustable height: 60MM Max height: 382MM
GUARANTEE] .‘ ¢ £
e Hpy_g Ratedcapacity: B000KG Min height: 206MM Hoisting weight: 125MM
w Adjustable height: 60MM Max height: 390MM
5 Rated capacity: 10000KG Min height: 206MM  Hoisting weight: 125MM
Code Model No. P%”s ’K'gg\ Ifm HBJ-10 Agjustable height: 6B0MM Max height: 390MM
_ _ Rated capacity: 16000KG Min height: 2256MM  Hoisting weight: 140MM
170429 A11-VSC 10(1x10box) HBJ-16 Adiustable height: 60MM Max height: 425MM
HBJ_po Rated capacity: 20000KG Min height: 244MM Hoisting weight: 145MM
. . Adjustable height: 60MM Max height: 449MM
Professional Handle File Holder Ftod capacity: 32000KG Minhoight 285MM _Forstng weight: 150N
HBJ-32  adjustable height: Max height: 465MM
OStandard: Q/TKG S55-2011 HBJ_50 Rated capacity: 50000KG Min height: 300MM ~ Hoisting weight: 180MM

Adjustable height:

Max height: 480MM

OMaterial: Aluminum alloy

O Function: Body panel polish and repair O Standard: GB/T 27697-2011

. ﬂ"’“ < -
L SR

Code Model No. Model name e
HBJ-2 2 metri ;
5 210002 metric tons Hydraulic Bottle Jack 8(1x8box)
Code Model No. e e e _ :
9 210003 HBJ-3 3 metric tons Hydraulic Bottle Jack 6(1x6box)
173401 AT1-FH 24(1x24504 210005 HBJ-5 5 metric tons Hydraulic Bottle Jack 6(1x6box)
210008 lEl=E 8 metric tons Hydraulic Bottle Jack 4(1x4box)
chisel scraper Knife 210010 HBJ-10 10 metric tons Hydraulic Bottle Jack 4(1x4box)
210016 HBJ-16 16 metric tons Hydraulic Bottle Jack 2(1x2box)
OStandard: QB/T 2083-1995 - 210020 HBJ-20 20 metric tons Hydraulic Bottle Jack 2(1x2box)
OMeaterial: Stainless steel o 210082 RlE=52 32 metric tons Hydraulic Bottle Jack 1(1x1box)
OFunction: Clean the dirts on engine el 210050 HBJ-50 50 metric tons Hydraulic Bottle Jack 1(1x1box)
cylinder head and metal surfaces il H:Hj
Code Model No. & o 2 .
PCS Kg mm
170300 A1CSK 606210000 Heavy-Duty Hydraulic Floor Jack

Work Torch

OStandard: Q/TKGS 57-2012
O Function:Main light source LED 1.5W, Brightness:110Im,
Light distance: 1000m.
O Battery: 3.7v/2200mAh rechargeable Lithium battery.
OCharger: AV110-240V 50/60HZ 0.2A AND DC12-24V
1.75A, 1pc each
OCharging period: about 4.5 h
ODischarging time: 5-6 h =
OThree-way Switch, high lights, work light and frequent flash can be selected.
O Suitable to workshop maintenance, outdoors work, estate managemnets.

o =)

OStandard: JG/T 321-2011

0 1pcs(1x1box)

Code Model No. P%ms Kg bim Code [Model No| Model name Min height| Meax height | Rated capacity

173001 A12-WL-L 4(1x4box) 200118 HFJ-15 [1.5 metric tons heavy—uty hycrauiic Foor Jack |65MM - | 610MM | 16500Kg
200102 HFJ-20 2.0 metic tons heavy—dluty hydrauic Floor Jack | 76MM | 505MM | 2000Kg
200125 HRJ-25 |25 metric tons heavy—duty hydraulic Floor Jack | 180MM | 460MM 2500Kg

Metal Spray NOOZIe Set 200103 HRJ-30 (3.0 metric tons heavy—duty hydraulic Floor Jack | 102MM | 520MM 3000Kg

OStandard: Q/TKGS 53-2011
OMaterial: Zinc alloy

O Function: Applied to household vehicle washing Aluminium A"oy Hydraulic Floor Jack

O =)
Kg mm

Code | ModelNo. | Amm | Lmm A
190001| A11-SNS 60(6x10box) ’

OStandard: JG/T 321-2011

Portable Working lamp LED Chargeable

OStandard: Q'TKGS57-2012

O Function: Ultra distance lighting range. ‘

Applied to workshop maintenance, outdoors
work, estate mangement etc.

i =)
Code | ModelNo. | Awm | Luom = s = 1 pes(ix1box)
170313 | A12-FL-30 20(1x20box) Code [Model No| Model name Min heightlViax heightiRated capacity
170314 | A12-FL-60 20(1x20box) 200165HFJ-A~15(1.5 metric tons Aluminium Alloy hydraulic Floor Jacd 65MM | 610MM|  1500Kg




Auto Repair Tool Set

Auto Repair Tool Set

O Pick & Finishing hammer, Light Shrinking Hammer,
Curved Dolly,Doube End Hand Dolly, Toe Dolly

PCS

Code |Model No| Model name iy = =
173106| HSW-6S | Panel Beating Tools 6pcs Set | 2(1x2box) | 14.59 | 430x290x165

Gas Pick & Finishing hammer, Light Shrinking Hammer, Curved Dolly,
Doube End Hand Dolly, Toe Dolly

Auto Repair Tool Set

OMaterial: 3/8” -7/8-80, 3/8” -7/8-90, 3/8-1-1/16-74,
1/2-27-82,1/2” -27-82,1/2” -29-90,
CR-V1/2” -22,3/8” —22 CR-MO

OFunction: Remove and assemble oxygen sensor on automobile.

Model No. Model name pras A s
170430 | A11-SS-7S | Sensor Socket 7pcs Set |12(1x12box)

3/8” -7/8-80, 3/8” ~7/8-90, 3/8-1-1/16-74,
GPCS 1/2-27-82,1/2" -27-82,1/2" -29-90,
1/2" -22,3/8" -22

Auto RepAuto Repair Tool Set
OMaterial: CR-MO
O Function: For removing and assembly of valve spring.
C type clamp ensure consistent coaxial contact with
the valve.
PCS

Code |Model No. Model name ohs o =
170418| VSC-7S | Valve Spring Compressor 6(1xBbox) | 16.4 | 495x375x255

For removing and assembly of valve spring. C type clamp ensure consistent
Contents coaxial contact with the valve.Adapter(mm): 16 19 23 25 30

Pressure screw length(mm):70 110 120
!l Fm2pcs(1x2box)

Auto Repair Tool Set

O8pcs Oil filter wrench
1pc 10mm ratchet
1pc 12.5mm adapter(1/2")

OQilfilter wrench use together with 3/8"
and 1/2" driver tools.

Code ‘Model No.‘ Model name = =
170500 OFW-8S Qil Filter Wrench Cap Style 8pcs Set 4.48 | 385x245x155

45 gear softgrip ratchet tri—-function joint

14 slide oil filter wrench cap style 65mm

14 slide oil filter wrench cap style 76mm
8pcs 15 slide oil filter wrench cap style 74 76mm

15 slide oil filter wrench cap style 80mm

15 slide oil filter wrench cap style 90mm

15 slide oil filter wrench cap style 93mm

o

CS

i 16pcs(1x16box)

Auto Repair Tool Set

OStandard: Q/TKGS 34-2011

O Material: Aluminum alloy

OFunction: The oil separator on Ford assembled after
year 1985 with AXOD, AOD or ATX gear box, Ford,
GM, Chrysler oil separator 5/16" and 3/8"
Ford and GM rapid oil separator

Code |Model No. Model name s il
170413| ATL-12S | Fuel and transmission line disconnect tools set | 8.29|535x275x182
Fuel & Transmission Line Disconnect Tool set
Parts: Pipeline, filter, oil tank, oil filter pipe separator 3/8",
PARTS  Oil cooling line separator;
Pipeline, filter, oil tank, oil filter pipe separator 5/16",
Pipeline, filter, oil tank, oil filter pipe separator 1/4", : PCS

Auto Repair Tool Set

OStandard: Q/TKGS 29-2010

O Function: Remove normal bearings, steering
wheel bearings,Crankshaft pulley etc.

ORange: 30-75mm

PCS

Code |Model No.
170407|BSS-12S

i) 2L =]
Model name PCS Ko o

2(1x2box)| 11.80 | 430x290x165

12pcs Bearing Separator Set

Puller 30-50mm
12pcs Puller 50-75mm
H type Puller (four screw rods)

Auto Repair Tool Set

OStandard: Q/TKGS 30-2010
O Function: Regulate most wheel cylinder to
better replace the brake pad.

PCS
Code [Model No. Model name PG?S kﬁé f,fn
170404|DBS-12S |12pcs Disc Brake Caliper Tool set |4(1x4box)| 9.3 385x250x350
Tpcs Magnetic screw rod 1pc
Tpcs Mood shape separator 1pc
10pcs Separator pieces 10pcs

Auto Repair Tool Set

OMaterial: CR-MO
OFunction: Remove and assemble the power steering
belt pulley on most alternating current motors

%

@ 20pcs(1x20box)

Code | Model No. Model name K;; =
171201]A11-PI=12S| 12PCS Drive Wheel Steering Pulley Removal Tools Set
Jaw and Sleeve Assembly, Steering, Mandrel, Puller, Washer
Puller Pin for Quad 4
Contents Screw Installer for Quad 4
Puller Pin for GM 3.1
Screw Installer for GM 3.1
Screw Installer for Ford 4.6 Modular
Screw Installer for other vehicles, Button PCS

Auto Repair Tool Set

OStandard: Q'TKGS 28-2010
OFunction: on most steering wheels

PCS

Model name

E i 6pcs(1x6box)
Code |Model No. Ko =

170405 | STR-14S | 14pcs Steering Wheel Dismantling Devices Set [12.20|345x325x265

Drawing roll, Disc lock, 9/16-18 bolt, M14*15 bolt,
5/16—24 bolt (2pcs), M8-1.25 bolt (2pcs),

14pcs

5/16-18 bolts(2pcs), Terminals, Drawing roll bolts, Washer, Nut

INDEX




Auto Repair Tool Set

Auto Repair Tool Set

OFunction: Applied to valve seal and valve spring removal and
assembly; Pull out the valve seal in narrow space; Plier hold
tightly valve seal.

PCS

Auto Repair Tool Set

OMaterial: CR-V

OFunction: Dismantle the balancer, crank wheel, Steering.
Applicable to dismantle the machinery plug hole or flywheel
on four—cycle engine.

PCS

Code | Model No. Model name rs k| =
171101|A11-VRI-11S|11pcs Valve Seal Removal Tool Set| 12(1x12box)

Code | Model No. Model name - Eg E;?n

170303|A12-BP-37S|37pcs Harmonic Balancer Puller Set| 4(1x4box)

10" valve seal clamp, 6" hand spinner,
Contents Gasket pull rod(applied for 10.8—-14.8mm gasket),
Gasket pull rod adapter(5mm, 5.5mm, 6mm, 6.6mm, 7mm, 8mm and 3/8")

Auto Repair Tool Set

OMaterial: Aluminum
O Function: Assemble quickly and convenient.

Code | Model No. Model name
171001|/A11-BD-10S|10pcs Bearing Race And Seal Driver Set|6(1x6box)

1Pcs Drive Handle, 9Pcs Disc of Standard

Contents
size(mm): 39.5,44.5,50,59,63,65,72,76,81.

Auto Repair Tool Set

OFunction: Car audio removal and assemble.
Applied on VW,Audi,Benz,BMW,Opel,
Renault and Peugeot

PCS

Code | Model No. Model name P%ﬂs K§ et
171301|A11-RR-20S| 20pcs Radio Rremoval Tool Set | 60(10x6box)

Contents Used on VW,Audi,Benz,BMW,Opel,Renault and Peugeot

Auto Repair Tool Set

OFunction: Assemble to two jaws and three jaws to
dismantle the bearing
Range: 60mm, 95mm and 165mm

PCS

L) ik
Model name PCS Ko o
4(1x4box)

Code | Model No.
170307|A12-LJP-16S|

16 pcs Locking Jaw Puller Set

3 jaw holder, 2 jaw holder, 1pc disc holder, 1pc supporting screw beam,

Contents . . .
3pcs 60mm jaw, 3pcs 95mm jaw, 3pcs 165mm jaw, 3pcs screws

1pc: Pullers stand of 4 holes, Long rod  Short rod,Flat long thimble,

Flat short thimble, Pyramidal big thimble,Pyramidal short thimble,

3pcs: 8mm - 1.25 X 40 bolt, 8mm - 1.25 X 65 bolt,8mm - 1.25 X 80 bolt,
10mm - 1.5 X 50 bolt, 1/4” - 28 X 3 bolt,5/16" — 18 X 2 bolt,

3/8” — 16 X 2 bolt,3/8" — 16 X 4 bolt,

3/8” - 24 X2 bolt,5/16" — 18 X4 —1/2" bolt,

2pcs: 5/16" — 24 X3 - 1/2" bolt

Contents

Auto Repair Tool Set

O Function: Applied to 8mm phillips bits,

hexagon bits and slotted bits.
PCS
Code | Model No. Model name - ;; E;?n

170308|A12-IM-15S|15pcs Impact screwdriver Set|16(1x16box)

Impact screwdriver
8mm phillips bits  8mm hexagon bits  8mm slotted bits

CONteNtS 35\ |ongth: #1 #2 #3 36mm length: 456 8mm  36mm length: 5 6 8 9mm
80mm length: #2  80mm length: 8mm

Auto Repair Tool Set

PCS
=

Code | Model No. Model name PCS
170306 |[A12—-RT- 23S| 23pcs System Release Tool Set |6(1x6box)

Remove and assemble the electric terminals on BMW, Ford, Jaguar,
Benz, Opel, Porsche, Saab, Seat,Skoda, VW, AUDI, Renault,Citron Crysler,

Contents X .
Fiat, Toyota, Mazda, Mitsubishi,Honda

Auto Repair Tool Set

OMaterial: Carbon steel

OFunction: Dismantle and install the belt pulley and cam.

PCS
Code | Model No. Model name s [ =
170305|A12-BPI-25S| 25pcs Balancer Puller & Installer| 4(1x4box)

Six hole puller and installer stand,Main Rod

3/8" X 24 hexagon bolt,3/8" X 16 hexagon bolt,

5/16" X18 hexagon bolt,6mm X 10 hexagon bolt,3/8" X 1/2"
TS double head bolt,3/8" half round head thimble,3/8" X 16mm double

head bolt,3/8" X 9/16" double head bolt,3/8" X 3/4'double head

bolt,3/8" X 12mm double head bolt,3/8" X 14mm double head bolt,

3/8" X 16mm double head bolt,3/8" X 7/16" double head bolt,

10mm round hole flat gasket,6.5mm round hole flat gasket




